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To find the value of ‘a’

Through x = 2, draw a vertical line which meets
the graph at a point, say P. Through P, draw a
horizontal line which meets the y-axis at y = 5.

*. The value of unknown ‘a’ in the table is 5.
Ans.

Similarly, through y = -7, draw a horizontal line
which meets the graph at a point, say Q.

Through Q, draw a vertical line which meets the
x-axis at —4.
b=-4 Ans.

The linear relation between x and y is y = 2x + 1. Ans.

o This gwes -3 =
Agam, the graph
- This gnres
NO_W'_, :
;ﬁeqnirea relation is : y =

1),subst1tutex Oandy-lmy mx + c.
Le. =1

= e | ie.m=2
ie. y= 2r+1

On a graph paper, dravi?‘ a straight line represented by the equation 2x — 3y +12-0
Use the graph den to ﬁnd the values of m and n so that the pomts (m,-—2) and
(3 n) lie on the gwen.strmgiﬁ ime ;

Solution :

2x-3y+12=0

= 2x = 3y-12
e _ 3y-12
G
I I X's T
y 0 21 4 i
Plot the points (-6, 0), (-3, 2) and 1™
(0, 4) on a graph paper; then draw a T
straight line through these points -8
which will represent the given equation \:,,

2x-3y+12=0.

Since, point (m, —2) lies on the straight line drawn, through y = -2 draw a horizontal line
which meets the straight line at point A. Through point A, draw a vertical line which meets
x-axis at point 9.

m=-9 Ans.
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